Doing Conversational Analysis - Chapter 6: Analytic Strategies (ten Have)

Summary: The paper discusses two approaches for analyzing conversations.

Approach 1
1. Select a Sequence

a. Beginning: Locate term that introduces new topic

b. End: Locate turn where participants not responding to topic

2. Characterize action

a. Answer: What is this person doing/trying to do in this turn?

b. Consider relationships between terms

3. Consider ‘packaging’ of terms

a. Consider why particular ‘form’ of phrase was chosen

i. Consider why certain word was chosen over another

b. Consider what other options speaker had

c. Consider how this contributed to the meaning of the phrase

4. Timing and Turn Taking

a. Describe how speaker obtained turn

b. When the turn was initiated

c. When and how the turn terminated

d. If the current speaker selected the next speaker

5. Consider roles and relationships

a. Obligation and Expectation

i. Story-teller/listener

b. Permanent

i. Mother/daughter

Approach 2

1. Turn-Taking Organization

a. Idea: Identify ‘units’ of turn-taking

i. Sentence

ii. Phrase

b. Identify speaker selection

i. Naming

ii. Self-selection

2. Sequence Organization

a. Idea: one thing leads to another

b. Cycles

i. Question/Answer

c. Sequence Expansion

i. Question in response to question.
Example:



3. Repair Organization

a. Idea: Deal with problems in organization

b. Correct mishearings and misunderstandings

i. “Huh? Did you say fifteen or fifty?”

c. Unclear phrases

i. P1: Can I talk to John or Steve?
P2: He went to the store.
P1: Who?
=> Unclear if P2 meant that John went to the store or that Steve went to the store.

4. Turn-Construction Design

a. Showing a preference for a specific kind of response:

i. “You didn’t lose my notebook, did you?”
=> The speaker makes it clear that a response of no is preferred.

1:   P1:  Do you want a pen or a pencil?

2: P2: Uhhh….yeah.

3: P1: Which one?

4: P2: Oh, the pen.

5: P1: So, do you know how to solve this problem, don’t you?

6: P2: Which problem are you talking about?

7: P1: The first one. 

8: Yep, it shouldn’t be too hard.

Analysis
Using approach 1

The sequence consists of lines 1-7. P1 wants to know if P2 wants a pen or a pencil (1). P2 doesn’t seem to be paying attention, and on line 3 P1 asks another question to clarify.  On line 4 P1 says that he wants the pen. Then P1 asks on line 5 if P2 knows how to solve the problem. P2 does not know which problem P1 is referring to and asks a question in response, P1 clarifies on line 7, and P2 answers P1 question from line 5 on line 8.

The speakers’ conversation has a question/answer format, and they take turns speaking according to that format. They seem to be two students working on a homework.

Using approach 2


Each line consists of a unit of turn-taking. Lines 1 and 2 consists of a question and answer pair, as do lines 3 and 4. Line 5 is a question, but line 6 is a question in answer to a question. Line 7 is the answer to the question on line 6 and line 8 is the answer to the question on line 5. They are all question/answer pairs, even though the last 4 lines are 2 nested question/answer pairs.


Line 3 is an example of a repair that takes place when the answer on line 2 is not clear as to which writing utencil the speaker wants. Line 6 is also a repair because P2 is not clear as to which problem P1 is referring to on line 5. Line 5 is an example of a speaker looking for a specific kind of response. It shows that P1 prefers to hear that P2 does know how to solve the problem.

P1:   Asks Q1


P2:   Asks Q2


P1:   Answers Q2


P2:   Answers Q1








